ACO | POS| BIT |QUANT| _COMPRIMENTO |
(mm) UNIT | TOTAL
(cm) (cm)
VP1
50A T 0 2 996 7992
\/ P 9 50A 2 10 2 965 1930
50A 3 6.3 2 95 190
50A 4 6.3 46 109 5014
20/40 20/40 Pz
< < 50A T 0 2 170 340
e o 50A 2 10 2 165 330
. 60B 3 5 7 86 602
| 8¢ 63c/0 15 ¢ 6.3 C/20 VP3
T N5 (155) N6 (285) Corte A Corte B 50A 1 10 2 996 1992
2510 e B B B I
o2 2910 2910 S0A| 4 6.3 1 95 95
5 6.3 X2 B 4.2 T 50A 5 6.3 44 109 4796
2 ¢ 10 2 ¢ 10
< m 50A T 10 3 994 2082
50A 2 10 1 175 175
VP4 <+ P9 <+ P3 2010 2910 50A 3 10 2 965 1930
14 14 50A 4 6.3 44 109 4796
VPS5
729 50A T 10 3 996 2988
2 N1 % 10 3 35 50A 2 10 3 305 915
- 50A 3 10 2 965 1930
C=790 " 50A 4 10 2 225 450
50A 5 6.3 44 109 4796
VP7
50A T 10 2 795 1590
8 N5 ¢ 6.3 C=123 26 N6 ¢ 6.3 C=109 50A 2 10 2 624 1248
(costem) 192 50A 3 10 2 140 280
] 50A 4 10 2| 1130 2260
2 N3 ¢ 42 C=192 50A 5 10 2 280 560
50A 6 6.3 2 95 190
50A 7 6.3 64 109 6976
|41 1 VP8
1 N4 ¢ 6.3 C=95 713 50A 1 12.5 2 445 890
— 50A 2 125 2| 1030 2060
50A 3 12.5 4 170 680
o 50A 4 10 2| 1125 2250
730 - 50A 5 10 2 265 530
— 50A 6 10 2 275 550
2 N2 ¢ 10 C=760 50A 7 6.3 2 95 190
50A 8 6.3 63 109 6867
VP9
50A T 0 2 790 7580
50A 2 10 2 760 1520
60B 3 4.2 4 192 768
50A 4 6.3 2 95 190
50A 5 6.3 8 123 984
50A 6 6.3 26 109 2834
AGO [ POS| BT |QUANT|_COMPRIMENTO VP10
(mm) UNIT | TOTAL 50A 1 10 2 995 1990
(cm) (cm) 50A 2 10 2 450 900
VP6 50A 3 10 2| 1130 2260
50A 7 70 2 596 7992 50A 4 10 2 280 560
50A 2 10 1 175 175 S0A 5 6.3 2 95 190
oA 3 10 2 965 1930 50A 6 6.3 63 109 6867
50A 4 6.3 46 109 5014 RESUMO ACO CA 50-60
AGO BIT COMPR PESO
("1"2 (m) (kg)
RESUMO ACO CA _50-60 o8 S H !
AGO BIT COMPR PESO 50A 6.3 450 112
(mm) (m) (kg) 50A 10 381 240
S0A 6.3 50 13 S0A 12.5 36 36
50A 10 41 26 Peso Total 60B = 2 kg
Peso Total 50A = 38 kg Peso Total 50A = 389 kg

ARMACAO: VIGAS DO PISO TERREO
Folha TRU 18




